Quiz Tues 29.3 29.3 Gnt'd Partial Derivatives J<sup>e</sup> y X slice parallel to x-axis Slope of the tangent line is  $\frac{52}{5x}$  $\bigwedge$ "partial derivative of Z with respect to x" Notation:  $\frac{\partial z}{\partial x}$  or  $\frac{\partial z}{\int x}$  or  $z_x$ <u>Ex</u>:  $f = x^{3} + 4xy + 7y$  (4y)x  $\frac{\partial f}{\partial x}$ : x is the variable (y is constant)  $\frac{df}{dx} = 3x^2 + 4y + 0$  $= 3x^2 + 4y$  $\frac{\partial f}{\partial y}$ : y is the variable (x is constant)  $\frac{df}{dy} = 0 + 4x + 7$ Ex: f = cos xy  $\frac{\partial f}{\partial y} = -\sin xy (x)$ = -xsin xy

$$\frac{\partial f}{\partial x} = -\sin xy (y)$$

Lectures Page 1

$$\frac{\partial f}{\partial x} = -\sin xy (y)$$

$$= -y \sin xy$$

$$\frac{fx}{dx} = \frac{e}{2} \frac{e^{x+y}}{x^{x+y}}$$
Find  $\frac{\partial x}{\partial x} \Big|_{(0,0,\frac{1}{2})}$ 
  
Recall Quotient Rule  $(\frac{u}{r}) = \frac{ru'-r'u}{r^{2}}$ 

$$\frac{\partial z}{\partial x} : x \text{ is the variable } (y \text{ is a #})$$

$$\frac{\partial z}{\partial x} = \frac{(x^{2}+\frac{1}{2})(e^{6x+y}) - (2x)(e^{6x+y})}{(x^{2}+\frac{1}{2})^{2}}$$

$$= \frac{42}{49} \text{ or } \frac{6}{7}$$
  
Second- Order Parkial Derivatives
  
Notation
$$\frac{\partial z}{\partial x} = \frac{\partial(\partial z}{\partial x})$$

$$\frac{\partial^{2}z}{\partial x^{2}} = \frac{\partial(\partial z}{\partial y})$$

$$\frac{\partial^{2}z}{\partial x^{2}} = \frac{\partial(\partial z}{\partial y})$$

$$\frac{\partial^{2}z}{\partial x^{2}} = \frac{\partial(\partial z}{\partial y})$$
  
Ex:  $z = x^{2} \cos 4y$  Find:  
a)  $\frac{\partial^{2}z}{\partial x^{2}}$ 

Lectures Page 2

$$\frac{\partial x^{2}}{\partial x^{2}} = 2x \cos 4y$$

$$\frac{\partial x}{\partial x} \left(\frac{\partial x}{\partial x}\right) = \frac{\partial}{\partial x} \left(2x \cos 4y\right)$$

$$= 2 \cos 4y$$

$$\frac{\partial}{\partial y} \left(\frac{\partial x}{\partial x}\right) = \frac{\partial}{\partial y} \left(\frac{\partial x}{\partial x}\right)$$

$$\frac{\partial x}{\partial x} = 2x \cos 4y$$

$$\frac{\partial}{\partial y} \left(\frac{\partial x}{\partial x}\right) = \frac{\partial}{\partial y} \left(2x \cos 4y\right)$$

$$= 2x \cdot -4 \sin 4y$$

$$\frac{\partial}{\partial x} \left(\frac{\partial x}{\partial y}\right) = \frac{\partial}{\partial x} \left(\frac{\partial x}{\partial y}\right)$$

$$\frac{\partial x}{\partial x \partial y} = \frac{\partial}{\partial x} \left(\frac{\partial x}{\partial y}\right)$$

$$\frac{\partial x}{\partial x \partial y} = \frac{\partial}{\partial x} \left(-4x^{2} \sin 4y\right)$$

$$= -8x \sin 4y$$

$$\frac{\partial}{\partial x} \left(\frac{\partial x}{\partial y}\right) = \frac{\partial}{\partial x} \left(-4x^{2} \sin 4y\right)$$

$$= -8x \sin 4y$$

$$\frac{\partial}{\partial x} \left(\frac{\partial x}{\partial y}\right) = \frac{\partial}{\partial x} \left(-4x^{2} \sin 4y\right)$$

$$= -8x \sin 4y$$

$$\frac{\partial}{\partial x} \left(\frac{\partial x}{\partial y}\right) = \frac{\partial}{\partial x} \left(-4x^{2} \sin 4y\right)$$

$$\frac{\partial}{\partial x} \left(\frac{\partial x}{\partial y}\right) = \frac{\partial}{\partial x} \left(-4x^{2} \sin 4y\right)$$

$$\frac{\partial}{\partial x} \left(\frac{\partial x}{\partial y}\right) = \frac{\partial}{\partial x} \left(-4x^{2} \sin 4y\right)$$

$$\frac{\partial}{\partial x} \left(\frac{\partial x}{\partial y}\right) = \frac{\partial}{\partial x} \left(-4x^{2} \sin 4y\right)$$

$$\frac{\partial}{\partial x} \left(\frac{\partial x}{\partial y}\right) = \frac{\partial^{2} x}{\partial x \partial y} \text{ when } \frac{\partial^{2} x}{\partial y \partial x} = \frac{\partial^{2} x}{\partial x \partial y} \text{ when } \frac{\partial^{2} x}{\partial y \partial x} = \frac{\partial}{\partial x} \left(\frac{\partial x}{\partial x}\right)$$

$$\frac{\partial^{2} x}{\partial y \partial x} = \frac{\partial}{\partial x} \left(\frac{\partial x}{\partial x}\right) \text{ ore } \frac{\partial x \partial y}{\partial x \partial y}$$

$$\frac{\partial^{2} x}{\partial y \partial x} = \frac{\partial}{\partial x} \left(\frac{\partial x}{\partial x}\right)$$

Lectures Page 3

d) 
$$\frac{\partial^2 t}{\partial y^2} = \frac{\partial}{\partial y} \left( \frac{\partial t}{\partial y} \right)$$
  
 $\frac{\partial t}{\partial y^2} = -4x^2 \sin 4y$   
 $\frac{\partial}{\partial y} \left( \frac{\partial t}{\partial y} \right)^2 = \frac{\partial}{\partial y} \left( -4x^2 \sin 4y \right)$   
 $= -4x^2 \cdot 4 \cos 4y$   
 $= -16x^2 \cos 4y$ 

$$\frac{dy}{dy} = \frac{4}{3} \frac{1}{3} \frac{1}{3}$$